[image: C:\Documents and Settings\GTAYLOR\Desktop\scanned temp\File0739.bmp]
[image: C:\Documents and Settings\GTAYLOR\Desktop\scanned temp\File0740.bmp]
image1.png
Ass/‘&nmer\?‘ 3 1997 MC (sa/ec?"ed proé/cm.s>

@ ® $0r 5 ) dx @M_Lﬁuu—
S E S | @ [, osenhd
- ~, = 3 -+~ -3 y ’
So Y de - S; fcfxb A ‘SIE-GKM)& ; t s v ”'So (y"l) A'/
- a+ab * 5x/a - ——Z = n’Sa ,l/d k
S < - ‘)dx T———r—t— 2 Z
- aeab * 5b-Sa 9% g thed 2 S 2 pdyls
2 7b - 7a E OX'%'D/z A:Qf(;y-xi,fk Y—,\/? - 532 T
. . - ‘s - by . — 0
ORI TR L ) - 2rZ) 2= A T
£'tm) - -jxaf/-ﬂ-d <8-’§— -g‘g*g‘) ,2< 9/\' = ;3,{{.5_3'_@
d - £--3 V
‘ YA LI e /6= 3/
AR IC ] ek The width o f each
: -3 @ 3 = 3?’—' rec+ansle '3 3—15. TAH‘C arc
: 03 x 50 rectangles So the Fotful
[ § 7 deax (oiog width 's [ The Fanction
(veloc# J.,.g,; £ o o € : must be yz=Ax. The
...sif,‘-l *o neqafive.) taax 3 1
fot dist 53’/ 4 it I\ x-values range From o
of 4.3t = vy dt -y _ anod !
. ® g e, N fo I. So VX dx
-J( vit)de + S - vi)de e - a°
(] [
T Jja o+ I e - [Cj @\/= x3+6xerx-2c08 x
= /3 @ s ~ 7= Ixd+nax 4y +asiax
@ ;Au = 5_3 ces X ax . y": G6X+/2 + Qs X
ro e - — Snfh i3 wirh Xmin -3 and
d - ¥ ' s (J>_( X max -/ and Find thezere,
; \/\ = Siax /_3 xa =/ 8%/ @
p- g 3
[ Cu'.(" [y N N
sé A#’/nh/ikea ne;.zug Se T 3aS5 =S éJ) g, ‘F(de 13 ‘d( area
5 must leok like a Aey- ¥ uderﬂc curve from
» Cubre = S,‘.SI‘S,‘AJ | do 3
& ) 3
, [ y~x3 - F(9-FO = Sak’”d’
£ %= 7-—2——— @ /L,m x = L E is the arew under fle
. _ =y In X o) curve from O +o 3,
f' = - ) 2+23=%3 [0

2 @ - (9 €
dee. (- 2) B fiig = (-3 ke e () I

c"'(~x'+3 +£aK)

@ P,J.c}‘ faajexc/ (3/2) ;_C-r(xa_l,x-_;) .
S/o,e of t‘aﬁcdq 5 2 -d’(x-_;)@(-n) l ;:e
Zaa. /iae egn,rf.x VAL :5()(*.!) ,{./ - + - . 2
Fiad +ie zaro of *he Tan. /ine. - 3 Vo= S (’*/me ) d
. x
© -3 = 5(x-3) jng, oA ("I)J) @ !
- | ,‘n'f*:&. on Cale

2285 x /S -
]

Ll-:x

2e=x [T





image2.png
[997 MC  coat,

o fwo -

FQO-?("L
f'x) = 3%
L
TToavx

rate ofck atx=C 13 twie rate atcc/\.a+x=/
£ = 2- F'(

- L
z:/l:é‘ =2
L = |
Ve
£ = VT
2
L = C
i .o [A]
270 al(t)= ¢+S't vie) =
V(t> = I(tf'.ff\n't)Jt
v(e) = _;t_ —cast+C @
A ar Af’l‘ wGQ(,)+2';<x,)+ ""’%“0)
A = O ~teso +
. =5 (3+2 3425428413
-2 =
NP =12 [8]
V()= 22 -cost -l

O = .,‘1-2 -cost -/
Y

£z royre.. (200 u(.for)

Since F(x) = I:A(t)de )

{
+ - f 1
‘F ; ¢ - L ™

aﬁ 23 a o & <
do
uf dn uP
b

CA) 1$ naf‘ /pos.le/e Since I7L/(a.$
a S/\arf turn of x4 SO
£ would net exist




